_ 1 ©x — |x] s
) =s <s -1 fl xSt dx)s -1 (1-2)

s ntly_—n @ x —|x|
(=57~ E (sfn Py dx)—sfb —e (2-1)
n=1
b-1
s nMly—n @ x —|x]|
=51 SL gl —Sfb e (2-1-1)
= R —
b-1
s b x n+1 n
:S_l—sfl Fdx—s E <L Fdx)—Ol (2'1‘2)
n=1
b-1
s b1 n+l q
=S_1—sf1 Fdx—s E n(fn Fdx)—o1 (2-1-3)
n=1
b-1
_S S e S z f"“i B .
1 1—sb 1 s n(n x5+1dx 0,4 (214)
n=1
b-1
1 n+1 1
=(1—1_S)b1‘5—s E n<L de)—Ol (2'1'5)
n=1
b-1 b-1
b b g b b 1 n n
=E‘E‘S§ ”(f W”@‘“W‘E‘i o) o (2-1-6)
n=1 n=1
b b s/1 1 2 2 b—-1 b—1
e O S CESF Fac el ey ) (2-1-7)
b b'E 1 1 2 2 b—1 b—-1
it Tty To-1r p) O (2-1-8)
b=1 b

b b'® 1 b 1 1 p=s @ x —|x|
1=t E )5ty ‘01=§ (5)‘1_5‘5L o dxbEN (2-1-9)



